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 f (x) = (x  - 5x + 6) = 

    g (x) = (x - 3) = 

f (x) x  - 5x + 6 (x - 3)(x - 2) =  =  = (x - 2) = 
g (x) x - 3 (x - 3)
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 - 5  και  f (200) = 2 200 - 5 = 395
   g΄(x) = (x - 3)  = 1  και  f (-1) = 1
   K = 3 f (200) + 819 g (-1) =  3 395 + 819 1 = 1185 + 819 = 
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xi vi fi xi - x  (xi - x )2 (xi - x )2vi 
15 4 0,4 -13 169 676 
20 2 0,2 -8 64 128 
30 1 0,1 2 4 4 
50 3 0,3 22 484 1452 
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Η  f  είναι γνησίως αύξουσα στο  (- , 0]  και γνησίως φθίνουσα 
στο  [0 , +). 

 
δ. Η  f  παρουσιάζει τοπικό μέγιστο την τιμή  f (0) = 2 
 
ε. (ε) : y - f (1) = f΄(1) . (x - 1)     

 (ε) : y - 1 = -1.(x - 1)   
 (ε) : y - 1 = -x + 1   
 (ε) : y = -x + 2 
 
 

 


